

ProRFx ID: ITB12022400000250	Contact Name: Louis Joseph	Notification Sent: 5811
Solicitation No: ITB# PWD/241019	Email: ljoseph@ocalafl.gov	Watching: 8
ProRFx Type: ITB Services	Contact Phone: 352-629-8260	Bids: 7

Bid Name: SOUTHWEST - Stormwater Drainage Retention Areas Grounds Maintenance

	Venc	lor Name:	Solo Cats Se	ervices, LLC	Mowing &	Landscaping,		ality Lawn tenance	Earthscapes Inc	-	Terry Clark Se	ervices, LLC		hape nance, Inc	A Native Tree	e Service, Inc
		Location:	Ocala	a, FL	Oca	ila, FL	Oca	ala, FL	Colema	an, FL	Raleigh	, NC	Oca	ila, FL	Mian	ni, FL
Item #	Property/Address	Cuts Per Year	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost
PWD/SW 01	DRA # 301 SW 19th St & SW 5th Ave Mow top & part of slope on East side of DRA. Weedeat fenceline, around trees, structures. Signs, etc Mow outside East fence to road. Weedeat fenceline, around trees, signs, etc Brushback East fenceline of any growth or overhanging	14	\$403.00	\$5,642.00	\$423.00	\$5,922.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 675.00	\$9,450.00	\$700.00	\$9,800.00	\$292.52	\$4,095.28
PWD/SW 02	DRA # 302 Across from 1818 SW 9th Ave Mow top & slopes West to road, North to fenceline, East to property line of parcel #23656-021-00, and South to propery line of parcel #23656-021-01. Weedeat fencelines, around trees, signs, structures, rocks, etc * This area will have ditchlines attached*	14	\$114.00	\$1,596.00	\$119.00	\$1,666.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24	\$ 200.00	\$2,800.00	\$200.00	\$2,800.00	\$252.44	\$3,534.16
PWD/SW 03	DRA # 150 200 Blk of SW 32nd St Mow top & slopes North & West to woodlines, East to DRA parcel propery line, and South to sidewalk. Weedeat around trees, signs, structures, guardrail, etc	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$52.30	\$732.20	\$ 50.00	\$700.00	\$100.00	\$1,400.00	\$145.10	\$2,031.40
PWD/SW 04	DRA # 149 SW 32nd St & SW 4th Ave Mow top & slopes North,East, and West to woodlines. Mow south to Road. Weedeat around trees, signs, structures, etc Edge North side of sidewalk and driveway	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$52.30	\$732.20	\$ 50.00	\$700.00	\$100.00	\$1,400.00	\$113.10	\$1,583.40
PWD/SW 05	DRA # 148 SW 32nd/42nd St & SW 7th Ave Mow top, slopes, and bottom North to concrete flume, heading North along 7th mow to end of curbing, Mow West to the end of the concrete flume, Mow South & East to road. Weedeat around trees, signs, structures, etc Edge Concrete flume, sidewalk & curbing along East side.	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 40.00	\$560.00	\$50.00	\$700.00	\$195.28	\$2,733.92

PWD/SW 06	DRA #152 SW 32nd/42nd St & SW 7th Ave (SOUTH DRA) Mow top, slopes, and bottom North to the road, Mow half the strip seperating the 2 DRAS to the West, Mow South & East to the treelines.Weedeat around trees, signs, structures, etc Edge sidewalk along the road. Brushback treelines of any growth encroaching DRA parcel	14	\$100.00	\$1,400.00	\$105.00	\$1,470.00	\$150.00	\$2,100.00	\$261.52	\$3,661.28	\$ 175.00	\$2,450.00	\$200.00	\$2,800.00	\$324.52	\$4,543.28
PWD/SW 07	DRA #151 1600 Blk of SW 42nd St (DRA WITH RED GATE) Mow top & slopes of both DRAs to woodlines. Mow outside fence from concrete wall in the east to 200 feet past DRA gate to the west. Weedeat along fenceline, Edge sidewalk & driveway. Brushback outside fence of any growth or overhanging as well as treelines of any growth or overhanging towards DRA parcel	14	\$75.00	\$1,050.00	\$78.00	\$1,092.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 130.00	\$1,820.00	\$175.00	\$2,450.00	\$277.80	\$3,889.20
PWD/SW 08	DRA #147 1900 Blk of SW 42nd St Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around tress, structures, poles, etcMow outside from fence to road. Weedeat outside fenceline. Edge sidewalk & driveway. Brushback fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 100.00	\$1,400.00	\$100.00	\$1,400.00	\$278.24	\$3,895.36
PWD/SW 09	DRA #309 Behind 3307 SW 26th Ave White fence & gate is located aross from the rear of above adress on East side of 34th St, GATE CODE *2141 DRA IS ON RIGHT AFTER TREELINE Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc Mow outside fence to road. Weedeat outside fenceline. Brushback fencelines of any growth or overhanging	14	\$261.00	\$3,654.00	\$274.00	\$3,836.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24	\$ 450.00	\$6,300.00	\$500.00	\$7,000.00	\$347.24	\$4,861.36
PWD/SW 10	DRA #306 2825 SW 24th Ave (Enter through Scott Springs Entrance, follow road all the way to the end, DRA is to the left of parking lot) Mow top & slopes to North & East fencelines, West & South to woodline Including easement to DRA from parking lot. Weedeat fencelines, around trees, structures, etc. Brushback fencelines & woodlines of any growth or overhanging encroaching DRA parcel	14	\$106.00	\$1,484.00	\$111.00	\$1,554.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 185.00	\$2,590.00	\$200.00	\$2,800.00	\$308.52	\$4,319.28
PWD/SW 11	DRA #300 SW MLK Jr. Ave & SW 17th Ave (Behind Honda) Mow top & slopes on all mowble portions of DRA. (North side is all retaining wall) Mow to road and fencelines. Weedeat around trees, structures, signs, fencelines, etc Edge sidewalk. Brushback fencelines & trees of any growth or overhanging	14	\$154.00	\$2,156.00	\$162.00	\$2,268.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24	\$ 250.00	\$3,500.00	\$300.00	\$4,200.00	\$284.24	\$3,979.36

PWD/SW 12	DRA #305 Next to 2102 SW 12th Rd Mow top & slopes to all inside fencelines including ramp. Weedeat all inside fencelines, around structures, trees, etc Mow outside from fence to road. Weedeat outside fenceline, around trees, signs, poles, structures, etc Brushback fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$52.30	\$732.20	\$ 45.00) \$630.00	\$85.00	\$1,190.00	\$123.28	\$1,725.92
PWD/SW 13	DRA #307 2500 Blk of SW 19th Ave Rd (Next to Sonic) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, poles, structures, etc Mow outside of fence to road. Weedeat outside fenceline, around signs, poles, structures, etc Edge sidewalk,driveway,& curbing. Brushabck fencelines & trees of any growth or overhanging	14	\$268.00	\$3,752.00	\$282.00	\$3,948.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24	\$ 450.00) \$6,300.00	\$480.00	\$6,720.00	\$555.76	\$7,780.64
PWD/SW 14	DRA #313 Large DRA between SR200 & SW 27th Ave (Next to Goodwill) Mow top & slopes East & West to sidewalk. Mow South to treeline & parking lot/fence of Goodwill. Mow North to Rooms-To-Go parking lot, behind Electric sub- station & up to South fence & driveway of electric sub- station. Weedeat around all trees, signs, structures, fences, etc Edge all West,East, and South sidewalks. Keep fencelines around spillways clear of any growth. Maintain/brushback South fenceline of any overganging or growth towards sidewalk. Keep area mowed& weedeated between South sidewalk & treeline, mowed width may vary due to obstructions.	14	\$930.00	\$13,020.00	\$977.00	\$13,678.00	\$150.00	\$2,100.00	\$448.32	\$6,276.48	\$ 1,550.00) \$21,700.00	\$1,500.00	\$21,000.00	\$815.72	\$11,420.08
PWD/SW 15	DRA #312 3333 SW 31st Rd (Behind Ollies) Mow top & slopes North to fenceline, West & East to treelines, South to road. Weedeat fencelines, around all trees, signs, structures, poles, etc Edge curbing & driveway along road. Brushback fencelines & treelines of any growth, overhanging, or encroachment towards DRA parcel	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$ 50.00) \$700.00	\$85.00	\$1,190.00	\$203.36	\$2,847.04
PWD/SW 16	DRA #311 Behind 3300 SW 34th Ave (2 gates located on North & South sides of DRA) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, poles, etc Brushback all fencelines of any growth or overhanging. Weedeat & Mow outside North fence to parking lot curbing& South fence 2 passes up to spillway from parking lot.	14	\$108.00	\$1,512.00	\$114.00	\$1,596.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 200.00) \$2,800.00	\$225.00	\$3,150.00	\$328.48	\$4,598.72

PWD/SW 17	DRA #398 SW 34th St & SW 33rd Ave -Behind Heart Center- Can also access at Dead-End of SW 34th Terr Mow top & slopes to West& South woodlines. Mow North & East to property lines of DRA parcel. Weedeat around trees, signs, structures, etc Brushback woodlines of any growth or overhanging towards DRA parcel	14	\$148.00	\$2,072.00	\$156.00	\$2,184.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 250.00	\$3,500.00	\$300.00	\$4,200.00	\$361.64	\$5,062.96
PWD/SW 18	DRA #310 SW 42nd St & SW 31st/33rd Ave Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, along wall, etc Mow outsie North,West, and South fenceline to the road. Weedeat all outside fencelines, around trees, signs, structures, poles, etc Edge sidewalk to the South, Edge curbing on North,West, and South sides. Brusback		\$75.00	\$1,050.00	\$75.00	\$1,050.00	\$150.00	\$2,100.00	\$186.80	\$2,615.20	\$ 125.00	\$1,750.00	\$150.00	\$2,100.00	\$248.52	\$3,479.28
PWD/SW 19	DRA # 392 SW 42nd St & SW 31st Ave (South side of 42nd) Mow top & slopes North to road including around lift station, West, South, and East to fencelines. Weedeat all fencelines, around signs, poles, strucutres, etcEdge sidewalk & curbing to the North & driveway on East side. Brushback fencelines of any growth or overhanging	14	\$275.00	\$3,850.00	\$289.00	\$4,046.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 450.00	\$6,300.00	\$500.00	\$7,000.00	\$297.48	\$4,164.72
PWD/SW 20	DRA #391 SW 42nd St & SW 43rd St Rd (Small DRA on corner) Mow top, slopes, and bottom North to power poles, West & South to road, East to 2nd powerpole/ driveway apron. Weedeat around structures, signs, poles, etc Edge sidewalk & curbing.	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$ 50.00	\$700.00	\$85.00	\$1,190.00	\$124.80	\$1,747.20
PWD/SW 21	DRA #381 SW 42nd St & SW 43rd St Rd (West DRA) Mow top & slopes North,East, and South to road. Mow East to fenceline all the way to the SW corner where parcel comes to a point. Weedeat fenceline, around poles, signs, structures, etc Edge sidewalk, curbing & driveway. Brushback fenceline of any growth, encroachment, or overhanging	14	\$89.00	\$1,246.00	\$93.00	\$1,302.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24	\$ 160.00	\$2,240.00	\$200.00	\$2,800.00	\$334.48	\$4,682.72
PWD/SW 22	DRA #382 DRA next to overpass on SW 43rd St Rd. Mow top, slopes, and overpass slope North to fenceline, West to woodline, South to sidewalk, including area between guardrail & handrail, and East to road. Weedeat fenceline, around signs, poles, structures, guardrail & handrail. Edge sidewalk, curbing, & driveway along road. Brushback fenceline of any growth, encroachment, or overhanging	14	\$85.00	\$1,190.00	\$89.00	\$1,246.00	\$150.00	\$2,100.00	\$597.76	\$8,368.64	\$ 150.00	\$2,100.00	\$185.00	\$2,590.00	\$653.48	\$9,148.72

PWD/SW 23	DRA #338 Next to 4101 SW 38th Ct. (Entrance is on backside of Real Truck building) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, arounds trees, structures, poles, etc Mow outside West fence to road & from gate West to 38th Ct. Weedeat outside fencelines. Brushback fencelines of any growth, encroachment or overhanging	14	\$69.00	\$966.00	\$72.00	\$1,008.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 123.00	\$1,722.00	\$150.00	\$2,100.00	\$271.52	\$3,801.28
PWD/SW 24	DRA #355 Next to 3585 SW 38th Terr (Canterbury Circle) Mow top & slopes North to wall, West & South to woodlines, East to woodline,road,and wall. Weedeat along walls, around trees, structures, poles, sign, etc Brushback woodlines of any growth or overhanging encroaching DRA parcel	14	\$396.00	\$5,544.00	\$416.00	\$5,824.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 675.00	\$9,450.00	\$650.00	\$9,100.00	\$278.88	\$3,904.32
PWD/SW 25	DRA #367 SW 32nd St & SW 43rd Ct Mow top & slopes North to fenceline, West & South to road, and East to DRA property lines. Weedeat fencelines, around poles, structures, signs, etc Edge sidewalk on West side & curbing on West & East, and South side.	14	\$88.00	\$1,232.00	\$92.00	\$1,288.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 150.00	\$2,100.00	\$185.00	\$2,590.00	\$141.96	\$1,987.44
PWD/SW 26	DRA #298 3000 BLK of SW 44th Ave **this will be a future addition once 44th is completed**	14	\$78.00	\$1,092.00	\$81.00	\$1,134.00	\$150.00	\$2,100.00	\$220.00	\$3,080.00	\$ 140.00	\$1,960.00	\$150.00	\$2,100.00	\$210.40	\$2,945.60
PWD/SW 27	DRA #341 Next to 4620 SW 42nd St Mow top & slopes to all fencelines where able. Mow to DRA property lines where no fences are present. Mow North to road. Weedeat all fencelines, around trees, signs, structures, etc Edge curbing along Cul-De-Sac on north side.	14	\$70.00	\$980.00	\$74.00	\$1,036.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 125.00	\$1,750.00	\$150.00	\$2,100.00	\$169.36	\$2,371.04
PWD/SW 28	DRA #340 Next to 4560 SW 44th St Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc Mow outside from jut outside front gate to road. Brushback fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$37.36	\$523.04	\$ 40.00	\$560.00	\$55.00	\$770.00	\$69.96	\$979.44
PWD/SW 29	DRA #377 SW 40th St & SW 43rd Ct (South of Saddlewood Elementary School) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around structures, trees, poles, etc Mow outside North & East fence to road including areas between fence and sidewalk. Weedeat both outside fencelines, around structures, signs, poles, etc Edge sidewalks & driveways on both sides. Brushback fencelines of any growth or overhanging.	14	\$453.00	\$6,342.00	\$476.00	\$6,664.00	\$150.00	\$2,100.00	\$448.32	\$6,276.48	\$ 750.00	\$10,500.00	\$750.00	\$10,500.00	\$488.48	\$6,838.72

PWD/SW 30	DRA #387 Behind 3301 SW 74th Ave (Can enter through lot to the right of above address.) Mow top & slopes to woodlines/fencelines. Weedeat fencelines, brushback fencelines/woodlines of any growth or overhanging encroaching towards DRA parcel	14	\$85.00	\$1,190.00	\$89.00	\$1,246.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$ 150.00	\$2,100.00	\$185.00	\$2,590.00	\$88.14	\$1,233.96
PWD/SW 31	DRA #386 3500 Blk of SW 74th Ave (Next to ARGOS) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, poles, etc Mow outside West fence to road. Weedeat outside fenceline, around poles, signs, structures, etc Brushback fencelines of any growth or overhanging	14	\$137.00	\$1,918.00	\$144.00	\$2,016.00	\$150.00	\$2,100.00	\$186.80	\$2,615.20	\$ 230.00	\$3,220.00	\$250.00	\$3,500.00	\$241.36	\$3,379.04
PWD/SW 32	DRA # 353 South of 3001 SW 67th Ave Rd Mow top & slopes West & North to the road, South & East to presently established lines, including small DRA. Edge curbing from 67th to driveway to the East.	14	\$238.00	\$3,332.00	\$250.00	\$3,500.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24	\$ 400.00	\$5,600.00	\$400.00	\$5,600.00	\$311.24	\$4,357.36
PWD/SW 33	DRA # 388 SW 67th Ave Rd (2nd East DRA South of 40 on 67th) Mow top, slopes, and bottom North & East to fencelines, West to road, South to end of curbing. Weedeat fencelines, around trees, structures, signs, etc	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$ 100.00	\$1,400.00	\$125.00	\$1,750.00	\$193.80	\$2,713.20
PWD/SW 34	DRA # 389 SW 67th Ave Rd (1st East side DRA south of 40 on 67th) Mow top & slopes North & East to fencelines, West to grouping of trees against fence along 67th, mow the entire top of the berm to the South seperating the two DRA's.Weedeat fencelines, around trees, structures, signs, poles, etc Brushback fencelines of any growth or overhanging. Mow outside North gate to driveway.	14	\$219.00	\$3,066.00	\$230.00	\$3,220.00	\$150.00	\$2,100.00	\$501.54	\$7,021.56	\$ 360.00	\$5,040.00	\$400.00	\$5,600.00	\$366.48	\$5,130.72
PWD/SW 35	Location #412 Ditchline & ROWs on SW 67th Ave. Rd. from SR 40 to SW 38th St. 3.77 Miles 1 way Mow both sides to power poles. Weedeat fences, around poles, structures, signs, etc Edge curbing along DRAS 388 & 389.	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$2,116.80	\$29,635.20	\$ 100.00	\$1,400.00	\$125.00	\$1,750.00	\$1,983.92	\$27,774.88
PWD/SW 36	DRA #390 Small DRA on West side of 67th. Mow entire DRA up to treeline, weedeat around structures, signs, poles, etc	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$37.36	\$523.04	\$ 100.00	\$1,400.00	\$100.00	\$1,400.00	\$86.28	\$1,207.92

PWD/SW 37	DRA #399 Behind 325 SW 60th Ave (Entrance through easement between 325&381 SW 60th Ave.) Mow easment between 2 properties from 60th Ave to DRA. Mow top & slopes North & East to woodline. Mow South to fenceline. Mow West to fencelines/poperty line. Weedeat fencelines, around trees, strucutres, signs etc Brushback fencelines of any growth or overhanging	14	\$71.00	\$994.00	\$74.00	\$1,036.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 120.00	\$1,680.00	\$150.00	\$2,100.00	\$269.60	\$3,774.40
PWD/SW 38	DRA #346 Next to 442 SW 54th Ct Mow top & slopes North to retaining wall, East to road, South to building/fence & West to DRA property line. Weedeat fencelines, along wall & building, around structures, signs, etc	14	\$180.00	\$2,520.00	\$189.00	\$2,646.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 300.00	\$4,200.00	\$330.00	\$4,620.00	\$229.64	\$3,214.96
PWD/SW 39	DRA #345 SW 1st Ln & SW 52nd Ave (Behind Detroit Diesel) Mow top & slopes to all inside fencelines, including ramp. Weedeat all inside fencelines, around structures, trees, etc Mow outside North fence to road. Weedeat outside North fenceline, around poles, signs, structures, etc Brushback fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$52.30	\$732.20	\$ 80.00	\$1,120.00	\$100.00	\$1,400.00	\$142.60	\$1,996.40
PWD/SW 40	DRA #344 SW 1st Ln & SW 49th Ave Mow top, slopes, and bottom North & East to road, South to DRA property line, and West to tree line separating City & Private DRA. Weedeat around trees, structures, signs, poles, etc	14	\$75.00	\$1,050.00	\$78.00	\$1,092.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$ 125.00	\$1,750.00	\$175.00	\$2,450.00	\$184.84	\$2,587.76
PWD/SW 41	DRA #342 Enter along powerlines (South) next to 725 SW 46th Ave. DRA Parcel # 23322+000-01 Mow top & slopes North to fenceline, East, South, and West to DRA property lines. Weedeat around any poles, signs, structures, etc Within DRA parcel.	14	\$130.00	\$1,820.00	\$170.00	\$2,380.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$ 275.00	\$3,850.00	\$250.00	\$3,500.00	\$209.36	\$2,931.04
PWD/SW 42	DRA #343 1425 SW 44th Ave (Behind Lift Station) Mow top & slopes East & South to road, North and West to tree line, including North side of lift station. Weedeat around trees, signs, poles, structures, lift station fenceline, etc Edge Sidewalk & driveway on East side & Curbing along South side	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$ 100.00	\$1,400.00	\$125.00	\$1,750.00	\$136.84	\$1,915.76
PWD/SW 43	DRA #365 Next to 4741 SW 20th St (Meadowbrook Church) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, signs, poles, structures, etc Mow outside South fence to road. Weedeat outside South fencelines, around signs, poles, structures, etc Edge sidewalk, curbing, and driveway along road. Brushback fencelines & around trees of any growth or overhanging	14	\$248.00	\$3,472.00	\$260.00	\$3,640.00	\$150.00	\$2,100.00	\$186.80	\$2,615.20	\$ 425.00	\$5,950.00	\$450.00	\$6,300.00	\$323.04	\$4,522.56

PWD/SW 44	DRA #350 SW 20th St & SW 60th Ave (3 triangle DRAs on either side of 20th St.) Mow top, bottom, and slopes on North side of 20th (2 Dras) to North fenceline, West & South to road, and East to 3rd power pole. Weedeat fenceline, around trees, structures, signs, poles, etc. Edge concrete flume connecting top & bottom DRAs & curbing along West side. Mow top, slopes, and bottom of DRA on South side of 20th North & West to road, following property lines of parcel # 23320- 005-21 for the remaining portions. Weedeat around poles, signs, structures, etc. Edge curbing along West side	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24	\$	50.00	\$700.00	\$85.00	\$1,190.00	\$334.48	\$4,682.72
PWD/SW 45	DRA #366 SW 20th St & SW 54th Ct Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around structures. Mow outside North fence to road, including area outside gate on East side at end of driveway. Weedeat outside North fenceline, around trees, signs, structures, etc Edge sidewalk, curbing, & driveway along road. Brushback fencelines of any growth or overhanging	14	\$186.00	\$2,604.00	\$195.00	\$2,730.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 3	325.00	\$4,550.00	\$290.00	\$4,060.00	\$386.48	\$5,410.72
PWD/SW 46	DRA #318 Across from 3685 SW 20th St (Corner of CF campus by overpass, entrance on South side by tower) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, sgins, structures, etc Brushback fencelines & woodlines of any growth, overhanging or encroachment to DRA parcel.	14	\$140.00	\$1,960.00	\$147.00	\$2,058.00	\$150.00	\$2,100.00	\$298.88	\$4,184.32	\$ 2	250.00	\$3,500.00	\$250.00	\$3,500.00	\$397.60	\$5,566.40
PWD/SW 47	DRA #317 Next to 3410 SW 26th St (College Park) Mow top, slopes, and bottom North & South to road, East & West to property lines. Weedeat around trees, signs, poles, structures, fencelines, etc	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$52.30	\$732.20	\$	60.00	\$840.00	\$85.00	\$1,190.00	\$209.24	\$2,929.36
PWD/SW 48	DRA #315 SW 34th Terr & SW 34th Ave Cir at end of Cul-De-Sac Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc Mow outside portion of Cul-De-Sac from North fence to East fence. Weedeat Cul-De-Sac area. Brushback fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 1	120.00	\$1,680.00	\$120.00	\$1,680.00	\$251.36	\$3,519.04
PWD/SW 49	DRA #316 SW 37th Dr & SW 34th Terr Mow top & slopes to all inside fencelines, slopes will have to be weedeated ;go as far down as possible. Weedeat all inside fencelines, around structures, etc Mow outside North fence to road. Weedeat outside North fenceline, around poles, signs, structures, etc Brushback fencelines of any growth or overhanging.	14	\$93.00	\$1,302.00	\$97.00	\$1,358.00	\$150.00	\$2,100.00	\$896.64	\$12,552.96	\$ 1	160.00	\$2,240.00	\$200.00	\$2,800.00	\$370.60	\$5,188.40

PWD/SW 50	DRA #314 Behind 3140 SW 26th St, Enter through field beside church. Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc. Keep area outside gate/fenceline maintained. Brushback fencelines of any growth or overhanging	14	\$85.00	\$1,190.00	\$90.00	\$1,260.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 1	50.00	\$2,100.00	\$190.00	\$2,660.00	\$435.04	\$6,090.56
PWD/SW 51	DRA #320 SW 20th St & SW 27th Ave (behind Gas- station) Mow top & slopes to all property lines of DRA parcel # 23476+001-00. Weedeat around structures. Brushback fences around spillways of any growth, brushback treelines of any growth or overhanging encroaching DRA parcel	14	\$158.00	\$2,212.00	\$166.00	\$2,324.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$ 2	75.00	\$3,850.00	\$300.00	\$4,200.00	\$317.28	\$4,441.92
PWD/SW 52	DRA #321 Next to 1935 SW 31st Ave Mow top, slopes, and bottom to all inside fencelines. Weedeat all inside fencelines, around structures. Mow outside West fence to road. Weedeat outside fencelines, around structures. Brushback fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$	60.00	\$840.00	\$85.00	\$1,190.00	\$120.40	\$1,685.60
PWD/SW 53	DRA #337 Next to 3165 SW 5th St Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around structures. Mow outside South fence to road. Weedeat outside fenceline, around structures. Brushback fencelines of any growth or overhanging.	14	\$95.00	\$1,330.00	\$100.00	\$1,400.00	\$150.00	\$2,100.00	\$186.80	\$2,615.20	\$ 1	75.00	\$2,450.00	\$200.00	\$2,800.00	\$495.28	\$6,933.92
PWD/SW 54	DRA #324 Across from 1220 SW 33rd Ave (Balcony Gym) Mow top,slopes, and bottom to all inside fencelines. Weedeat all inside fencelines, around structures. Mow outside West fence to road. Weedeat outside fenceline, around structures. Brushback fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$52.30	\$732.20	\$	70.00	\$980.00	\$90.00	\$1,260.00	\$120.40	\$1,685.60
PWD/SW 55	DRA #322 SW 13th St & SW 37th Ave (Behind 1301 SW 37th Ave) Mow top,slopes, and bottom North to road, West to parking lot, South& East to treelines. Weedeat around trees, signs, structures, etc Brushback around trees, woodlines of any growth, overhanging, or encroachment towards the DRA parcel	14	\$66.00	\$924.00	\$69.00	\$966.00	\$150.00	\$2,100.00	\$52.30	\$732.20	\$ 1	25.00	\$1,750.00	\$150.00	\$2,100.00	\$141.84	\$1,985.76
PWD/SW 56	encroachment towards the DRA parcel DRA #323 Next to 2910 SW 14th St Mow top,slopes, and bottom North to sidewalk, West to treeline, South to fenceline, and East to fencelines/property lines. Weedeat fencelines, around trees, structures, poles, signs, etc Brushback around trees, fencelines, treelines of any growth, overhanging, or encroachment.	14	\$111.00	\$1,554.00	\$116.00	\$1,624.00	\$150.00	\$2,100.00	\$104.61	\$1,464.54	\$2	00.00	\$2,800.00	\$200.00	\$2,800.00	\$182.80	\$2,559.20

PWD/SW 57	DRA #336 HWY 40 & SW 27th Ave (Behind Quality Meats) Mow top & slopes North to parking lot & woodline, East & South to woodlines, and West to sidewalk. Weedeat around trees, signs, poles, structures, lift station, etc Edge sidewalk to the West. Brushback fences around spillways of any growth, brushback woodlines of any growth, overhanging, or encroachment towards DRA parcel.	14	\$385.00	\$5,390.00	\$405.00	\$5,670.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24 \$	675.00	\$9,450.00	\$650.00	\$9,100.00	\$466.48	\$6,530.72
PWD/SW 58	DRA #326 2500 BLK of SW 10th St (Next to Green Gables Apts.) Mow top & slopes North to road, West & South to fenceline/wall, and East to woodline. Weedeat around trees,signs, structuctures, along fencelines, etc Edge curbing & sidewalk along road. Brushback fences around spillways of any growth. Brushback woddlines of any overhang, or growth encroaching DRA parcel.	14	\$195.00	\$2,730.00	\$204.00	\$2,856.00	\$150.00	\$2,100.00	\$298.88	\$4,184.32 \$	350.00	\$4,900.00	\$350.00	\$4,900.00	\$435.48	\$6,096.72
PWD/SW 59	DRA # 334 SW 10th Rd & SW 19th Ave (Behind Sonnys on 200) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around structures, trees, poles, etc Mow outside North & West fence to road. Weedeat outside fencelines, around poles, signs, structures, etc Brushback fencelines of any growth or overhanging	14	\$195.00	\$2,730.00	\$205.00	\$2,870.00	\$150.00	\$2,100.00	\$448.32	\$6,276.48 \$	350.00	\$4,900.00	\$350.00	\$4,900.00	\$724.72	\$10,146.08
PWD/SW 60	DRA #327 SW 7th PI & SW 23rd Ave Mow top & slopes North, West, And East to fencelines. Mow south to woodlines. Weedeat all inside fencelines, around tress. Mow outside North, West, and East fences to the road. Weedeat all outside fencelines, around trees, structures, signs, etc Edge sidewalks on North & West sides. Brushback fencelines of any growth or overhanging.	14	\$109.00	\$1,526.00	\$115.00	\$1,610.00	\$150.00	\$2,100.00	\$298.88	\$4,184.32 \$	200.00	\$2,800.00	\$200.00	\$2,800.00	\$500.72	\$7,010.08
PWD/SW 61	DRA #335 Next to 1906 W Ft. King St Mow top & slopes to all inside fencelines, including ramp. Weedeat all inside fencelines, around trees, structures, etc Mow outside North, East, and South fencelines to the road. Weedeat outside fencelines, around trees, signs, poles, structures, etc Brushback around trees & fencelines of any growth or overhanging	14	\$111.00	\$1,554.00	\$116.00	\$1,624.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24 \$	200.00	\$2,800.00	\$200.00	\$2,800.00	\$200.08	\$2,801.12

PWD/SW 62	DRA #330 Next to 2013 SW 6th St Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around lift station, structures, etc Mow outside North & South fences to road including Cul-De-Sacs. Weedeat outside fencelines, around signs, structures, poles, etc Edge Miami curbing along road & Cul-De-Sac on North side. Brushback fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$224.16	\$3,138.24	\$	75.00	\$1,050.00	\$100.00	\$1,400.00	\$177.80	\$2,489.20
PWD/SW 63	DRA #329 SW 7th St & MLK JR. Ave (North DRA) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around structures. Mow outside East & South fencelines to the road. Weedeat outside fencelines, around signs, structures, etc Edge sidewalk & curbing on East side. Brushback fencelines of any growth or overhanging.	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$149.44	\$2,092.16	\$	100.00	\$1,400.00	\$120.00	\$1,680.00	\$198.80	\$2,783.20
PWD/SW 64	DRA # 328 SW 7th St &MLK Jr. Ave (South DRA) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc Mow between North fence & sidewalk. Edge along sidewalk. Brushback fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$	60.00	\$840.00	\$85.00	\$1,190.00	\$129.04	\$1,806.56
PWD/SW 65	DRA #332 SW 3rd St & SW 5t Ave (Behind OPD next to R/R Tracks) Mow top & slopes North to 3rd, East to road, following road towards OPD back gate, South to woodline/fenceline & West to R/R tracks. Weedeat around signs, poles, trees, structures, etc Brushback fencelin of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$	75.00	\$1,050.00	\$95.00	\$1,330.00	\$112.20	\$1,570.80
PWD/SW 66	DRA # 331 Next to 813 SW 3rd St Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc Weeeat outside fence & sidewalk. Edge along sidewalk. Brushback around trees & fencelines of any growth or overhanging	14	\$60.00	\$840.00	\$63.00	\$882.00	\$150.00	\$2,100.00	\$52.30	\$732.20	\$	50.00	\$700.00	\$85.00	\$1,190.00	\$115.48	\$1,616.72
PWD/SW 67	DRA #144 SW 5th St & SW 9th Ave Mow top & slopes North & West to road, East to R/R tracks. South will become DRA 333. Weedeat around all trees, signs, structures, poles, etc	14	\$262.00	\$3,668.00	\$275.00	\$3,850.00	\$150.00	\$2,100.00	\$186.80	\$2,615.20	\$ 4	450.00	\$6,300.00	\$450.00	\$6,300.00	\$392.48	\$5,494.72

PWD/SW 68	DRA #333 SW 9th St & SW 9th Ave Mow top & slopes West to the road, East to R/R tracks, South to overpass & property lines of warehouse in the SW corner. Weedeat around all trees, poles, signs, structures, etc MOW BOTTOM OF LARGE SOUTH DRA. Mow/ Weedeat all the way down to water on North DRA Edge all sidewalks around property, around concerete flumes & structures. Brushback around trees of any growth.	14	\$273.00	\$3,822.00	\$287.00	\$4,018.00	\$150.00	\$2,100.00	\$523.04	\$7,322.56	\$ 460.00	\$6,440.00	\$500.00	\$7,000.00	\$1,352.00	\$18,928.00
PWD/SW 69	SWD # 1 SW 2nd St from MLK JR. Ave to SW Ft. King St. Mow both sides of the road. Weedeat around poles, signs, trees, strutures, etc	14	\$55.00	\$770.00	\$60.00	\$840.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 300.00	\$4,200.00	\$200.00	\$2,800.00	\$188.24	\$2,635.36
PWD/SW 70	SWD # 2 SW 3rd St 6 Ditches behind rails on South side, starting at 1618 SW 3rd heading west to SW 17th Ave. Mow entire ditchline, weedeat around trees, structures, signs, etc	14	\$55.00	\$770.00	\$60.00	\$840.00	\$150.00	\$2,100.00	\$37.36	\$523.04	\$ 350.00	\$4,900.00	\$300.00	\$4,200.00	\$114.24	\$1,599.36
PWD/SW 71	SWD # 3 SW 2nd St from SW 24th Ave to dead end. Mow both sides of the road. Weedeat around poles, signs, trees, structures, etc	14	\$55.00	\$770.00	\$60.00	\$840.00	\$150.00	\$2,100.00	\$298.88	\$4,184.32	\$ 350.00	\$4,900.00	\$300.00	\$4,200.00	\$334.48	\$4,682.72
PWD/SW 72	SWD # 4 SW 9th Ave & SW 17th Pl. Large East side ditchline from 17th Pl to DRA 302. Mow entire area including ditch from road East to tree line. Weedeat around trees, structures, poles, signs, rocks, etc	14	\$55.00	\$770.00	\$60.00	\$840.00	\$150.00	\$2,100.00	\$298.88	\$4,184.32	\$ 400.00	\$5,600.00	\$300.00	\$4,200.00	\$124.24	\$1,739.36
PWD/SW 73	SWD #5 SW 9th Ave & SW 20th St East side ditchline from 20th North toward DRA 302. Mow entire area from road East to building ** Area is usually wet; if bottom cant be mowed, then do all slopes and road edge area off 20th** Weedeat around trees, signs, structures, along fence & building, etc	14	\$55.00	\$770.00	\$60.00	\$840.00	\$150.00	\$2,100.00	\$112.08	\$1,569.12	\$ 450.00	\$6,300.00	\$300.00	\$4,200.00	\$138.64	\$1,940.96
PWD/SW 74	SWD # 6 SW 5th Pl & SW 24th Ave Mow North side ditch on 5th from 24th East to end of chain link fence, and from road North to fence. Weedeat along fence, around signs	14	\$55.00	\$770.00	\$60.00	\$840.00	\$150.00	\$2,100.00	\$74.72	\$1,046.08	\$ 375.00	\$5,250.00	\$300.00	\$4,200.00	\$57.22	\$801.08
PWD/SW 75	SWD # 7 SW 21st Ave & SW 7th St Mow entire West side ditchline on 21st from 7th St to 6th St. Edge sidewalk, weedeat around signs, structures, fencelines, etc	14	\$55.00	\$770.00	\$60.00	\$840.00	\$150.00	\$2,100.00	\$23.91	\$334.74	\$ 425.00	\$5,950.00	\$300.00	\$4,200.00	\$32.90	\$460.60

PWD/SW 76	5 SWD # 8 SW 19th Ave & SW 3rd St. Mow entire East of 19th from 3rd St to 4th St. Weedeat around poles, signs, structures, etc	14	\$55.00	\$770.00	\$60.00	\$840.00	\$150.00	\$2,100.00	\$37.36	\$523.04	\$ 400.	00\$5,600.00	\$300.00	\$4,200.00	\$32.90	\$460.60
ANNUAL TOTAL BID AMOUNT			\$14),168.00 \$147,812.00		\$159,600.00		\$215,812.52		\$262,752.00		\$271,670.00		\$319,964.96		
3 -YEARS TOTAL CONTRACT AMOUNT				0,504.00	\$443,436.00		\$478,800.00		\$647,437.56		\$788,256.00		\$815,010.00		\$959,894.88	